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Results

Generalized Mixed Models

Model Info
Info Value Comment
Model Type Logistic Maodel for binary y
call gim final_intonation ~ 1 + wh._words + context + wh_words:context + (wh_words + 1 + context
+ wh_words:context | subjectlD)
Link function Logit Log of the odd of y=1 over y=0
Direction Ply=1)/P(ly=0)  P( final_intonation = 1) / P( final_intonation = 0)
Distribution Binomial Dichotomous event distribution of y
LogLikel. -47.853 Unconditional Log-Likelihood
-2*LoglLikel. 95.706 Unconditional absolute deviance
Deviance 78.990 Conditional relative deviance
R-squared 0.179 Marginal
R-squared 0.346 Conditional
AlC 123.710 Less is better
BIC 157.054 Less is better
Residual DF 66.000
Chi- 0.920 Overdispersion indicator
squared/DF
Converged yes
Optimizer bobyga

Note. boundary (singular) fit: see help('isSingular’)
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